Kearnan College





ALL ORDERS MUST BE COMPLETED Online at www.campion.com.au by Friday 15th December 2023 Using "3RJR" as your code

Orders can still be placed past the 'return date' but it may incur a late fee.

PREPACKAGED DELIVERY SERVICE

HOME DELIVERY

Your order will be dispatched for \$8.00 no later than the week ending 19th January 2024 but where possible will be dispatched earlier, if placed on or before the return date of Friday 15th December 2023.

Orders placed after the 15th of December will incur a late fee of \$12.00. Please allow sufficient time for delivery to occur prior to the commencement of the school year.

Please refer to Campion's website www.campion.com.au for up-to-date information on our trading hours and our full terms and conditions.



Please tick the items required in the box provided

☑

Item Item Qty Unit Total

No. Reqd Reqd Price \$ Amount \$

YEAR TEN

Description

Office Use

Please note that there are digital products (eCode) on this Resource List. These products are single user licenses and are only valid for 1 year (unless otherwise stated). Digital resources cannot be returned, refunded or exchanged if you do change your mind, even if you haven't used or activated them. We recommend you please order your items carefully ensuring the correct resources are selected for your child's subjects.

Please allow sufficient time for digital resources to be processed and made available to the student after purchase. When ordering after the return due date some items may go to backorder and need to be reordered from the supplier.

	GENERAL STATIONERY							
	Any subject specific items, such as binders and display books, can be used in the following year providing they are in good order.							
P50466	Correction Tape 5mm x 8m Marbig	1		1	4.00	4.00		
P58510	Eraser Plastic Pencil Large With Sleeve	2		1	0.32	0.32		
P51396	Earphones - In Ear Stereo Black	3		1	6.30	6.30		
P51157	Highlighters Pkt 4 Micador ECO	4		1	2.80	2.80		
P56388	Loose Leaf Refills Reinforced A4 7mm Pkt 100	5		1	3.04	3.04		
P50114	Notebook A4 120 Page Q595/P595 Spiral	6		1	2.84	2.84		
P56095	Pen Ballpoint Cap Type Blue Medium	7		4	0.28	1.12		
P56096	Pen Ballpoint Cap Type Red Medium	8		4	0.28	1.12		
P50006	Pencil (HB) Micador Essential	9		4	0.28	1.12		
P56414	Ruler 300mm Plastic Clear	10		1	0.60	0.60		
P52086	USB Pocket Flash Drive 32GB - NO RETURNS	11		1	11.24	11.24		
P51366	Whiteboard Eco Markers Micador Pk 4	12		1	5.20	5.20		
	BUILDING & CONSTRUCTION							
P56428	Safety Glasses Clear Wrap Around	13		1	5.16	5.16		
	CERTIFICATE II IN SPORT COACHING No items required for this subject							
	DESIGN GRAPHICS							
P55439	Display Book A3 20 Pocket Black Insert Cover (Non-Ref)	14		1	7.64	7.64		
	ENGLISH							
P55111	Binder A4 2D Ring 25mm PE Blue	15		1	4.28	4.28		
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	16	$\overline{\Box}$	2	1.72	3.44		
P50371	Display Book A4 20 Pocket Cool Frost Blue Refillable	17	$\overline{}$	1	1.72	1.72		
	HEALTH EDUCATION							
P55112	Binder A4 2D Ring 25mm PE Green	18		1	4.28	4.28		
P50328	Exercise Book A4 128 Page 8mm with Margin Spirax #110	19	<u> </u>	1	1.72	1.72		
	HUMANITIES & SOCIAL SCIENCES							
P11072	Oxford Big Ideas WA Humanities & Soc Sci 10 (Print&Digital) [Saldais]	20		1	62.96	62.96		
P55114	Binder A4 2D Ring 25mm PE Red	21		1	4.28	4.28		
P55158	Binder Book A4 128 Page 8mm Premium with Margin Spirax	22		1	1.72	1.72		
P55449	Display Book A4 20 Pocket Red Refillable	23		1	1.72	1.72		
-			_	•	=			
	INFORMATION TECHNOLOGY							
P55110	Binder A4 2D Ring 25mm PE Black	24		1	4.28	4.28		

Please tick the items required in the box provided

Ø

Item

Unit

Qty

Total

Item

Office Use Description No. Reqd Reqd Price \$ Amount \$ **MATHEMATICS PRE ATAR** Select ONE of the options below: Choose One **OPTION 1: PRINT & DIGITAL** P08299 Cambridge AC Essential Maths Yr 10/10A (Print & Digital) 3E [Greenwood et 65.66 65.66 If you prefer a physical copy of the textbook, choose this option. **OPTION 2: DIGITAL ONLY** E20186 Digital Camb AC Essential Maths 10/10A (Access Code) 3E 26 DIGITAL ITEM 59.95 59.95 Please choose carefully before ordering this product as once purchased, this digital resource cannot be returned, refunded, or exchanged if you change your mind. P55113 Binder A4 2D Ring 25mm PVC Mango 4.88 4.88 27 P55272 Calculator Casio Graphic CAS Class Pad FX-CP400 28 1 281.95 281.95 P52000 Calculator Casio Scientific FX-82AU Plus II 2E 29 1 41.95 41.95 (Retain from previous year) P50114 Notebook A4 120 Page Q595/P595 Spiral 30 2 2.84 5.68 P56353 Protractor 10 cm 180 4" Half Circle 31 0.36 0.36 **MATHEMATICS PRE GENERAL** Select ONE of the options below: Choose One **OPTION 1: PRINT & DIGITAL** P18853 Cambridge AC Essential Maths CORE Yr10 (Print & Digital) [Greenwood et al] 32 65.66 65.66 1 If you prefer a physical copy of the textbook, choose this option. **OPTION 2: DIGITAL ONLY** E20518 33 DIGITAL ITEM 59.95 59.95 Digital Camb AC Essential Maths CORE 10 (Access Code) 1 Please choose carefully before ordering this product as once purchased, this digital resource cannot be returned, refunded, or exchanged if you change your mind. P55113 Binder A4 2D Ring 25mm PVC Mango 34 1 4.88 4.88 P52000 Calculator Casio Scientific FX-82AU Plus II 2E 35 1 41.95 41.95 (Retain from previous year. Replace as required) P50114 Notebook A4 120 Page Q595/P595 Spiral 36 2 2.84 5.68 P56353 Protractor 10 cm 180 4" Half Circle 37 1 0.36 0.36 RELIGIOUS EDUCATION P55472 Display Book A4 20 Pocket Yellow Non-Refillable 38 2 3.96 7.92 P51616 Exercise Book A4 96 Page 8mm PP Cover with Margin Spirax 39 2.08 2.08 **SCIENCE** P01350 Jacaranda AC Science Quest 10 Print/LearnON 3E [Lofts] 40 67.50 67.50 1 P55112 Binder A4 2D Ring 25mm PE Green 41 4.28 4.28 1 P50372 42 1.72 1.72 Display Book A4 20 Pocket Cool Frost Green Refillable 1 P50328 Exercise Book A4 128 Page 8mm with Margin Spirax #110 43 1.72 1.72

Please tick the items required in the box provided \downarrow

Office Use	Description	ltem No.	ltem Reqd	Qty Reqd	Unit Price \$	Total Amount \$
	VISUAL ART					
P50548	Binder A3 3D Ring PVC 38mm Insert White	44		1	21.56	21.56
P50427	Display Book A3 Refills Pkt 10 Colby	45		1	10.00	10.00
P58510	Eraser Plastic Pencil Large With Sleeve	46		2	0.32	0.64
P56291	Marker Artline #70 Bullet Point 1.5mm Black (Xylene Free)	47		1	3.80	3.80
P56115	Marker Artline #210 Black 0.6mm	48		2	3.04	6.08
P56130	Pen Felt Tip Fineliner Black	49		2	2.28	4.56
P51656	Pencils-Coloured 12's in Tin Sketching Academy	50		1	15.16	15.16
P50034	Sketch Block A3 25 Leaf Cartridge	51		2	3.76	7.52
	Number of Boxes ticked:					
	Postage (Ho	me delivery only)	\$8.00	<u>) </u>		
	ESTIMATED AMOUNT DUE		\$			

(PRICES CORRECT AT 17/11/23)

\$